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25 and that £(0) = | and f(1) = 3. Let N = 2, Sketch
two possible graphs of £, one showing that £ might not sat-
isfy the conclusion of the Intermediate Value Theorem and
one showing that f might still satisfy the conclusion of the
Intermediate Value Theorem (even though it doesn’t satisfy
the hypothesis)

If f(x) = x* + 10sin X, show that there is 4 number ¢ such
that f(c) = 1000.

Use the Intermediate Value Theorem to prove that there is 2
positive number ¢ such that 2 — 2 (This proves the exis-
tence of the number /3.)

40 = Use the Intermediate Value Theorem to show that
€ is a root of the given equation in the specified interval.
YHr-3=0 (1,2 38 N =1-x 0
cosx=x. (0.1) 40.) tan x = 2y, 0, 1.4)




